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2 imagesc

MATLABOOOOOOOOOOOOOOO imagesc DO OO

>> x=1:2;
>> y=1:2;
>> pix=[0 1; 1 0];

>> imagesc(t,n,pix)
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>> p=[60 64 67];
>> d=[1 1 1];
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>> A=[1 0 0;
0 0 0;
0 0 0;



O O O O o
O O O ~» O
o O O O

1]

A =
1 0 0
0 0 0
0 0 0
0 0 0
0 1 0
0 0 0
0 0 0
0 0 1

>> x=1:3;

>> y=60:67;

>> imagesc(x,y,A)
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>> axis xy
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>> pl1=[60 60 67 67 69 69 67];

> di=[1111112];

>> [pr,t,pl=piano_roll_matrix(p1,d1,60,67,1,1);
>> imagesc(t,p,pr)

>> axis xy;
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function [ pr, t, p] = piano_roll_matrix( pitch, duration, pmin, pmax, unit, col )

t = 1:sum(duration);
duration = unit * duration;

pitch = pitch - _ + 1;



pr = zeros(length(

ind =
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end

end

end

1:length(pitch),
for j = O:duration(i)-1,
if pitch(i) > 0,

pr(_____ e ) = col;

end

ind = ind + 1;
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pl
di
p2
d2
p3
p4

[60 60
111
[55 55
222
[52 52
[48 48

67 67 69 69 67];
111 2];

57 B5];

2];

53 52];

48 48] ;

[prl,t,pl=piano_roll_matrix(p1,d1,48,69,1,1);
[pr2,t,pl=piano_roll_matrix(p2,d2,48,69,1,2);
[pr3,t,pl=piano_roll_matrix(p3,d2,48,69,1,3);
[pr4,t,pl=piano_roll_matrix(p4,d2,48,69,1,4);
imagesc(t,p,pri+pr2+pr3+pr4)

axis xy;

gbooooooooboo

65

60

55

50




